IC312 Quiz #1
Name: _____________________________

1. Using big-O notation, indicate the time requirements of each of the following tasks in worst case:

a. Find the largest integer in a two-dimensional array of integers, where the size of the array is n-rows by n-columns.

O(n2)
b. Find a “legal” parking place on the seawall, where n is the number of possible parking places. 

O(n)

2. Show the relative ordering among the following growth-rate functions.  For example a ( b ( …

a. 104n2
b. 2nlogn

c. 
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d. n2logn

e. 
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n


c <= e <= b <= a <= d

3. Using the definition of big-O, show that 25n5+3n3-10n2-5 = O(n5).  

Hint:  You need to find c > 0 and n0 ( 1, such that 25n5+3n3-10n2-5 ( cn5 for all n ( n0.

25n5+3n3-10n2-5
<= 25n5+3n3

<= 25n5+3n5  for all n >= 1

<= 28n5

Therefore, c = 28 and n0 = 1
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